

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
1	Acer barbatum (Florida Maple)		595-75	Trees, Ornamental and Shade	12.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			12.0000	NO BID		
919	1	Bold Spring Nursery Pulaski LL	Sam Rogers	1567			12.0000	93.00000	1,116.00	
3665	1	Pineland Plantation Trust	John Adler					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
2	Acer buergerianum Aeryn		595-75	Trees, Ornamental and Shade	21.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			21.0000	NO BID		
919	1	Bold Spring Nursery Pulaski LL	Sam Rogers	1567			21.0000	130.00000	2,730.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2238	1	Moon's Tree Farm, Inc.	Gina Roe	4017			21.0000	126.00000	2,646.00	
3665	1	Pineland Plantation Trust	John Adler					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
3	Acer rubrum Summer Red		595-75	Trees, Ornamental and Shade	15.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			15.0000	NO BID		
2238	1	Moon's Tree Farm, Inc.	Gina Roe	4017			15.0000	76.00000	1,140.00	
3665	1	Pineland Plantation Trust	John Adler				15.0000	90.00000	1,350.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
4	Carpinus caroliniana		595-75	Trees, Ornamental and Shade	15.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			15.0000	NO BID		
919	1	Bold Spring Nursery Pulaski LL	Sam Rogers	1567			15.0000	177.00000	2,655.00	
2238	1	Moon's Tree Farm, Inc.	Gina Roe	4017			15.0000	96.00000	1,440.00	
2409	1	Mid Georgia Nursery, Inc.	Bill Inabinet				15.0000	85.00000	1,275.00	
3665	1	Pineland Plantation Trust	John Adler					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
5	Cercis reniformis Oklahoma		595-75	Trees, Ornamental and Shade	9.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			9.0000	NO BID		
3665	1	Pineland Plantation Trust	John Adler					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
6	Chionanthus retusus std		595-75	Trees, Ornamental and Shade	6.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			6.0000	NO BID		
919	1	Bold Spring Nursery Pulaski LL	Sam Rogers	1567			6.0000	139.00000	834.00	
2238	1	Moon's Tree Farm, Inc.	Gina Roe	4017			6.0000	120.00000	720.00	
2409	1	Mid Georgia Nursery, Inc.	Bill Inabinet				6.0000	100.00000	600.00	
3665	1	Pineland Plantation Trust	John Adler					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
7	Cornus florida Cherokee Brave		595-75	Trees, Ornamental and Shade	6.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			6.0000	NO BID		
2409	1	Mid Georgia Nursery, Inc.	Bill Inabinet				6.0000	100.00000	600.00	
3665	1	Pineland Plantation Trust	John Adler					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
8	Lagerstroemia indica Muskogee		595-75	Trees, Ornamental and Shade	30.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			30.0000	NO BID		
919	1	Bold Spring Nursery Pulaski LL	Sam Rogers	1567			30.0000	118.00000	3,540.00	
2238	1	Moon's Tree Farm, Inc.	Gina Roe	4017			30.0000	116.00000	3,480.00	
3665	1	Pineland Plantation Trust	John Adler				30.0000	85.00000	2,550.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
9	Lagerstroemia indica Sarah		595-75	Trees, Ornamental and Shade	47.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			47.0000	NO BID		
919	1	Bold Spring Nursery Pulaski LL	Sam Rogers	1567			47.0000	66.00000	3,102.00	
2238	1	Moon's Tree Farm, Inc.	Gina Roe	4017			47.0000	70.00000	3,290.00	
2409	1	Mid Georgia Nursery, Inc.	Bill Inabinet				47.0000	80.00000	3,760.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
10	Lagerstroemia indica		595-75	Trees, Ornamental and Shade	18.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			18.0000	NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
919	1	Bold Spring Nursery Pulaski LL	Sam Rogers	1567			18.0000	118.00000	2,124.00	
2238	1	Moon's Tree Farm, Inc.	Gina Roe	4017			18.0000	116.00000	2,088.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
11	Lagerstroemia indica Sioux		595-75	Trees, Ornamental and Shade	34.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			34.0000	NO BID		
2238	1	Moon's Tree Farm, Inc.	Gina Roe	4017			34.0000	70.00000	2,380.00	
2409	1	Mid Georgia Nursery, Inc.	Bill Inabinet				34.0000	80.00000	2,720.00	
3665	1	Pineland Plantation Trust	John Adler				34.0000	75.00000	2,550.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
12	Magnolia grandiflora		595-75	Trees, Ornamental and Shade	3.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			3.0000	NO BID		
2238	1	Moon's Tree Farm, Inc.	Gina Roe	4017			3.0000	100.00000	300.00	
2409	1	Mid Georgia Nursery, Inc.	Bill Inabinet				3.0000	80.00000	240.00	
3665	1	Pineland Plantation Trust	John Adler				3.0000	90.00000	270.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
13	Nyssa sylvatica		595-75	Trees, Ornamental and Shade	6.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			6.0000	NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
919	1	Bold Spring Nursery Pulaski LL	Sam Rogers	1567			6.0000	157.00000	942.00	
2238	1	Moon's Tree Farm, Inc.	Gina Roe	4017			6.0000	96.00000	576.00	
2409	1	Mid Georgia Nursery, Inc.	Bill Inabinet				6.0000	80.00000	480.00	
3665	1	Pineland Plantation Trust	John Adler				6.0000	85.00000	510.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
14	Pistache chinensis		595-75	Trees, Ornamental and Shade	6.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			6.0000	NO BID		
919	1	Bold Spring Nursery Pulaski LL	Sam Rogers	1567			6.0000	84.00000	504.00	
2238	1	Moon's Tree Farm, Inc.	Gina Roe	4017			6.0000	96.00000	576.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
3665	1	Pineland Plantation Trust	John Adler					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
15	Prunus serrulata Okame		595-75	Trees, Ornamental and Shade	3.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			3.0000	NO BID		
2409	1	Mid Georgia Nursery, Inc.	Bill Inabinet				3.0000	70.00000	210.00	
3665	1	Pineland Plantation Trust	John Adler					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
16	Prunus serrulata Snowgoose		595-75	Trees, Ornamental and Shade	3.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			3.0000	NO BID		
3665	1	Pineland Plantation Trust	John Adler					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
17	Quercus laurifolia		595-75	Trees, Ornamental and Shade	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			1.0000	NO BID		
3665	1	Pineland Plantation Trust	John Adler				1.0000	80.00000	80.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
18	Quercus lyrata		595-75	Trees, Ornamental and Shade	12.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			12.0000	NO BID		
919	1	Bold Spring Nursery Pulaski LL	Sam Rogers	1567			12.0000	100.00000	1,200.00	
2238	1	Moon's Tree Farm, Inc.	Gina Roe	4017			12.0000	88.00000	1,056.00	
3665	1	Pineland Plantation Trust	John Adler				12.0000	80.00000	960.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
19	Quercus nuttallii		595-75	Trees, Ornamental and Shade	18.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			18.0000	NO BID		
919	1	Bold Spring Nursery Pulaski LL	Sam Rogers	1567			18.0000	100.00000	1,800.00	
2238	1	Moon's Tree Farm, Inc.	Gina Roe	4017			18.0000	88.00000	1,584.00	
2409	1	Mid Georgia Nursery, Inc.	Bill Inabinet				18.0000	80.00000	1,440.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
3665	1	Pineland Plantation Trust	John Adler				18.0000	80.00000	1,440.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
20	Quercus virginiana		595-75	Trees, Ornamental and Shade	15.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			15.0000	NO BID		
919	1	Bold Spring Nursery Pulaski LL	Sam Rogers	1567			15.0000	112.00000	1,680.00	
3665	1	Pineland Plantation Trust	John Adler				15.0000	90.00000	1,350.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
21	Ulmus Americana Princeton		595-75	Trees, Ornamental and Shade	12.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			12.0000	NO BID		
2409	1	Mid Georgia Nursery, Inc.	Bill Inabinet				12.0000	80.00000	960.00	
3665	1	Pineland Plantation Trust	John Adler					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
22	Ulmus parvifolia Bosque		595-75	Trees, Ornamental and Shade	15.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			15.0000	NO BID		
919	1	Bold Spring Nursery Pulaski LL	Sam Rogers	1567			15.0000	107.00000	1,605.00	
2238	1	Moon's Tree Farm, Inc.	Gina Roe	4017			15.0000	72.00000	1,080.00	
2409	1	Mid Georgia Nursery, Inc.	Bill Inabinet				15.0000	80.00000	1,200.00	
3665	1	Pineland Plantation Trust	John Adler					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
23	Freight Truckload of Trees		595-75	Trees, Ornamental and Shade	1.0000	LO	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
783	1	John Deere Landscapes	Keith McGinty	6239			1.0000	NO BID		
919	1	Bold Spring Nursery Pulaski LL	Sam Rogers	1567			1.0000	575.00000	575.00	
2238	1	Moon's Tree Farm, Inc.	Gina Roe	4017			1.0000	1400.00000	1,400.00	
2409	1	Mid Georgia Nursery, Inc.	Bill Inabinet				1.0000	780.00000	780.00	
3665	1	Pineland Plantation Trust	John Adler				1.0000	65.00000	65.00	